
 

Section 4.3  
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The critical values are 3 and 0. 
The quotient is positive. 
x < 0 or x > 3 
The domain is ( ,  0) (3,  ).−∞ ∪ ∞  

 
 
56. Shift 3 units to the right and 1 unit down 

 
 
 
58.  The graph of ( ) ln 3f x x= +  is the graph of lny x=  shifted 3 units up. 

The graph of ( ) ln( 3)g x x= −  is the graph of lny x=  shifted 3 units to the right. 

The graph of ( ) ln(3 )h x x= −  is the graph of lny x= shifted 3 units to the left and reflected across the y-axis. 

The graph of 5( ) log ( 3)k x x= − +  is the graph of 5logy x= reflected across the x-axis and shifted left 3 units. 

a.  ( )k x   b.  ( )h x   c.  ( )g x    d.  ( )f x  
 
79. The domain of the inverse is the range of the function. 

Range of f: {y | –1 < y < 1}. 
The domain of the function is the range of the inverse. 
Range of g: all real numbers. 

 
 


